On an Nikolskii-type inequality

By NGUYEN QUANG HOA (Hanoi)

I. Introduction and result

S. M. NIKOLSKII [7] proved in 1951 an inequality of the form

$$(1.1) || T_n(x) ||_{L^q[0,2\pi]} \le C n^{\frac{1}{p} - \frac{1}{q}} || T_n(x) ||_{L^p[0,2\pi]}$$

where C is a constant independent of $T_n(x)$ and n, $1 \le p < q \le \infty$ and $T_n(x)$ is a trigonometric polynomial of order at most n. This inequality has had many applications in approximation theory, for example to embedding problems (see e.g. [10]).

N. X. Ky [2] introduced so-called $\{N,\lambda\}$ systems $(\lambda > 0)$, that is orthogonal systems $\omega = \{\omega_n(x)\}_{n=0}^{\infty}$, $x \in [a,b]$, $-\infty \le a,b \le \infty$, such that for each $\phi_n \in \pi_n(\omega)$ the following inequality is valid:

where $\pi_n(\omega)$ is the set of the form $\sum_{k=0}^n a_k \omega_k(x)$, $a_k \in \mathbf{R}$, $k=0,1,2,\ldots,n$. $n \in \mathbf{P} = \{0,1,2\ldots\}$ and C is a constant independent of $p_n(x)$ and n.

From previous literature we can see that the classical orthonormal systems are all of such type (see e.g. [1], [4], [5]). In this paper we give an inequality of type (1.2) for the General Hermite system, that is the system $\{p_n(x)\cdot e^{-x^2/2}|x|^{\alpha/2}\}$ $(\alpha>0)$, where $p_n(x)$ is the *n*-th orthonormal polynomial with respect to the weight $w(\alpha,x)=e^{-x^2/2}|x|^{\alpha/2}$ $(\alpha>0)$, $-\infty < x < \infty$). More precisely, we shall prove the following

Theorem. Let $\alpha > 0$. For each $p_n \in \mathcal{P}$ $(n \in \mathbb{N})$ the following inequality is valid:

$$(1.3) || p_n(x)w(\alpha,x) ||_{L^1(-\infty,\infty)} \le Cn^{1/2} || p_n(x)w(\alpha,x) ||_{L^\infty(-\infty,\infty)}$$

Here (and throughout the paper) C is an absolute constant, which may be different at each occurrence. \mathcal{P}_n is the set of algebraic polynomials of degree at most n. Moreover, the inequality (1.3) is sharp in the sense that there exists a sequence $\{\tilde{p}_n(x)\}_{n=0}^{\infty}$ of polynomials satisfying:

$$\parallel \tilde{p}_n(x)w(\alpha,x) \parallel_{L^1(-\infty,\infty)} \geq Cn^{1/2} \parallel \tilde{p}_n(x)w(\alpha,x) \parallel_{L^\infty(-\infty,\infty)}$$

II. Notations and lemmas

We shall use the following notations applied in [4].

(2.1)
$$L_{U(\alpha)}^{p} := \left\{ f; \parallel f(x)u(\alpha, x) \parallel_{L^{p}(0, \infty)} < \infty; \right. \\ \left. u(\alpha, x) = e^{-x/2} x^{\alpha/2} \right\}$$

(2.2)
$$L_{H(\alpha)}^{p} := \left\{ f; \| f(x)w(\alpha, x) \|_{L^{p}(-\infty, \infty)} < \infty; \right. \\ \left. w(\alpha, x) = e^{-x^{2}/2} |x|^{\alpha/2} \right\} \\ \left. (\alpha > -1, \ 1 \le p \le \infty) \right.$$

We denote the Laguerre polynomials and normalized Laguerre polynomials by

(2.3)
$$L_n^{\alpha}(x) = (n!)^{-1} x^{-\alpha} e^{+x} \left(\frac{d}{dx}\right)^n \left(x^{\alpha+n} e^{-x}\right)$$

and by

(2.4)
$$\hat{L}_n(x) = (-1)^n \left(\frac{n!}{\Gamma(n+\alpha+1)}\right)^{1/2} L_n^{\alpha}(x)$$

$$(x>0, \ \alpha>-1, \ n\in \mathbf{P})$$

respectively.

The normalized General Hermite polynomials will be denoted by $\hat{H}_n^{\alpha}(x)$ $(\alpha > 1, x \in \mathbf{R})$ i.e.

(2.5)
$$\int_{-\infty}^{\infty} \hat{H}_n^{\alpha}(x) \hat{H}_m^{\alpha}(x) e^{-x^2} |x|^{\alpha} dx = \delta_{nm}$$

where δ_{nm} is the Kronecker symbol.

The Laguerre functions and General Hermite functions are denoted by

(2.6)
$$\mathcal{L}_n^{\alpha}(x) = e^{-x/2} x^{\alpha/2} \hat{L}_n^{\alpha}(x)$$

and by

(2.7)
$$\mathcal{H}_{n}^{\alpha}(x) = e^{-x^{2}/2} |x|^{\alpha/2} \hat{H}_{n}^{\alpha}(x)$$
$$(\alpha > -1, \ n \in \mathbf{P})$$

respectively.

Lemma 1. Let $V_{n, 2n-1}^{H(\alpha)}(f; x)$ be the de La Vallée-Poussin mean of the General Hermite expansion of a function $f \in L_{H(\alpha)}^p(1 \le p \le \infty)$, then

$$(2.8) \quad V_{n,\,2n-1}^{H(\alpha)}(f;x) = \int_{-\infty}^{\infty} f(t) \sum_{k=0}^{2n-1} \Theta_{n,\,2n-1}(k) \hat{H}_{k}^{\alpha}(x) \hat{H}_{k}^{\alpha}(t) e^{-t^{2}} |t|^{\alpha} dt$$

where
$$\Theta_{n,2n-1}(k) = \begin{cases} 1 & , k \leq n \\ \frac{2n-k}{n} & , n+1 \leq k \leq 2n-1 \end{cases}$$

PROOF. For $f \in L^p_{H(\alpha)}$, its Hermite-Fourier series is

(2.9)
$$\sum_{k=0}^{\infty} a_k \hat{H}_k^{\alpha}(x), \quad \text{where} \quad a_k = \int_{-\infty}^{\infty} f(t) \hat{H}_k^{\alpha}(t) e^{-t^2} |t|^{\alpha} dt$$

If we put $S_n(f;x) = \sum_{k=0}^n a_k \hat{H}_k^{\alpha}(x)$, then

$$V_{n,2n-1}^{H(\alpha)}(f;x) = \frac{1}{n} \left(\sum_{k=0}^{2n-1} S_k(f;x) - \sum_{k=0}^{n-1} S_k(f;x) \right).$$

Using Abel transform, we have

$$\sum_{k=0}^{2n-1} S_k(f;x) = \sum_{k=0}^{2n-1} \sum_{i=0}^k \int_{-\infty}^{\infty} f(t) \hat{H}_i^{\alpha}(t) \hat{H}_i^{\alpha}(x) e^{-t^2} |t|^{\alpha} dt$$

$$= \sum_{k=0}^{2n-1} \int_{-\infty}^{\infty} f(t) \hat{H}_k^{\alpha}(t) \hat{H}_k^{\alpha}(x) e^{-t^2} |t|^{\alpha} dt \left(\sum_{i=k}^{2n-1} 1 \right)$$

$$= \sum_{k=0}^{2n-1} (2n-k) \int_{-\infty}^{\infty} f(t) \hat{H}_k^{\alpha}(t) \hat{H}_k^{\alpha}(x) e^{-t^2} |t|^{\alpha} dt$$

analogously,

(2.11)
$$\sum_{k=0}^{n-1} S_k(f;x) = \sum_{k=0}^{n-1} (n-k) \int_{-\infty}^{\infty} f(t) \hat{H}_k^{\alpha}(t) \hat{H}_k^{\alpha}(x) e^{-t^2} |t|^{\alpha} dt$$

(2.10) and (2.11) lead to (2.8). q.e.d.

Denoting by $(C,1)_n^{H(\alpha)}(f;x)$ the first Cesàro mean of (2.9) we have

(2.12)
$$(C,1)_n^{H(\alpha)}(f;x) = \frac{1}{n} \sum_{k=0}^{n-1} \left(\sum_{j=0}^k a_j \hat{H}_j^{\alpha}(x) \right).$$

We can see that

$$(2.13) \quad (C,1)_{n}^{H(\alpha)}(f;x) \\ = \int_{k=0}^{\infty} f(t) \left(\sum_{k=0}^{n} \left(1 - \frac{k}{n+1} \right) \hat{H}_{k}^{\alpha}(x) \hat{H}_{k}^{\alpha}(t) \right) e^{-t^{2}} |t|^{\alpha} dt$$

Lemma 2.

(2.14)
$$\hat{H}_{2n}^{\alpha}(x) = \hat{L}_{n}^{\frac{\alpha-1}{2}}(x^{2})$$

(2.15)
$$\hat{H}_{2n+1}^{\alpha}(x) = \hat{L}_{n}^{\frac{\alpha+1}{2}}(x^{2})x \quad (\alpha > -1, x \in \mathbf{R})$$

PROOF. Let $y = x^2$, then

$$\int\limits_{-\infty}^{\infty} \hat{L}_{n}^{\frac{\alpha-1}{2}}(x^{2}) \hat{L}_{m}^{\frac{\alpha-1}{2}}(x^{2}) e^{-x^{2}} |x|^{\alpha} dx = \int\limits_{0}^{\infty} \hat{L}_{n}^{\frac{\alpha-1}{2}}(y) \hat{L}_{m}^{\frac{\alpha-1}{2}}(y) e^{-y} y^{\alpha/2} y^{-1/2} dy$$

$$= \int_{0}^{\infty} \hat{L}_{n}^{\frac{\alpha-1}{2}}(y) \hat{L}_{m}^{\frac{\alpha-1}{2}}(y) e^{-y} y^{\frac{\alpha-1}{2}} dy = \delta_{nm}$$

analogously,

$$\int_{-\infty}^{\infty} \hat{L}_{n}^{\frac{\alpha+1}{2}}(x^{2})x\hat{L}_{m}^{\frac{\alpha+1}{2}}(x^{2})xe^{-x^{2}}|x|^{\alpha}dx$$

$$=\int_{0}^{\infty} \hat{L}_{n}^{\frac{\alpha+1}{2}}(y)\hat{L}_{m}^{\frac{\alpha+1}{2}}(y)e^{-y}y^{\frac{\alpha+1}{2}}dy = \delta_{n}$$

finally,

$$\int_{-\infty}^{\infty} \hat{L}_{n}^{\frac{\alpha-1}{2}}(x^{2})\hat{L}_{m}^{\frac{\alpha+1}{2}}(x^{2})xe^{-x^{2}}|x|^{\alpha}dx = 0 \quad \forall n, m \in \mathbf{P}$$

as the integrand is an odd function. q.e.d.

Lemma 3.

$$(2.16) \quad |\mathcal{H}_{2n}^{\alpha}(x)| \le C \begin{cases} \nu^{\frac{\alpha-1}{2}} x^{\frac{2\alpha-1}{2}} &, 0 \le x^{2} \le 1/\nu \\ \nu^{-1/4} &, 1/\nu < x^{2} \le \nu/2 \\ \left[\nu/x^{2} \left(\nu^{1/3} + |x^{2} - \nu|\right)\right]^{-1/4} &, \nu/2 < x^{2} \le 3\nu/2 \\ x^{1/2} e^{-\gamma x^{2}} &, 3\nu/2 < x^{2} \end{cases}$$

$$(2.17) \quad |\mathcal{H}^{\alpha}_{2n+1}(x)| \le C \begin{cases} \nu^{\frac{\alpha+1}{2}} x^{\frac{2\alpha-1}{2}} &, 0 \le x^2 \le 1/\nu \\ \nu^{-1/4} &, 1/\nu < x^2 \le \nu/2 \\ \left[\nu/x^2 \left(\nu^{1/3} + |x^2 - \nu|\right)\right]^{-1/4} &, \nu/2 < x^2 \le 3\nu/2 \\ x^{1/2} e^{-\gamma x^2} &, 3\nu/2 < x^2 \end{cases}$$

where C, γ are positive constants independent of $n, \nu = 4n + \alpha + 1$.

PROOF. Let $y = x^2$. Using lemma 2. we have

$$\left| \mathcal{H}_{2n}^{\alpha}(x) \right| = \left| \hat{H}_{2n}^{\alpha}(x) e^{-x^2/2} |x|^{\alpha/2} \right| = \left| \hat{L}_{n}^{\frac{\alpha-1}{2}}(x) e^{-y/2} y^{\alpha/4} \right|$$

using [3], (2.8) we get (2.16). The proof of (2.17) is analogous. q.e.d.

Corollary 1. If $\alpha > 1/2$ then

(2.18)
$$\left| \mathcal{H}_{2n}^{\alpha}(x) \right| \le C \begin{cases} \nu^{-1/12} & , 0 \le x^2 \le 3\nu/2 \\ x^{1/2} e^{-\gamma x^2} & , 3\nu/2 < x^2 \end{cases}$$

(2.19)
$$\left| \mathcal{H}_{2n+1}^{\alpha}(x) \right| \le C \begin{cases} \nu^{3/4} & , 0 \le x^2 \le 3\nu/2 \\ x^{1/2} e^{-\gamma x^2} & , 3\nu/2 < x^2 \end{cases}$$

where C, γ are positive constants, $\nu = 4n + \alpha + 1$.

Lemma 4.

(2.20)
$$\|\hat{H}_{n}^{\alpha}(x)\|_{L_{H(\alpha)}^{p}} \sim \begin{cases} n^{1/2p-1/4} & ,1 \leq p \leq 4\\ n^{-(1/12+1/6p)} & ,4$$

(2.21)
$$\| \hat{H}_{n+1}^{\alpha}(x) - \hat{H}_{n-1}^{\alpha}(x) \|_{L_{H(\alpha)}^{p}} \sim n^{1/2p-1/4} \quad (n \to \infty)$$

PROOF. Assume that n is even, i.e. $n = 2m \ (m \in \mathbb{N})$ (the case when n is odd, leads to a slight modification only). Let $y = x^2$. We have

$$\begin{split} \|\hat{H}_{2m}^{\alpha}(x)\|_{L_{H(\alpha)}^{p}} &= \|\hat{L}_{m}^{\frac{\alpha-1}{2}}(x^{2})\|_{L_{H(\alpha)}^{p}} = \left(\int_{-\infty}^{\infty} |\hat{L}_{m}^{\frac{\alpha-1}{2}}(x^{2})e^{-x^{2}/2}|x|^{\alpha/2}|^{p}dx\right)^{1/p} \\ &= \left(\int_{0}^{\infty} |\hat{L}_{m}^{\frac{\alpha-1}{2}}(y)e^{-y/2}y^{\alpha/4-1/2p}|^{p}dy\right)^{1/p} = \|\hat{L}_{m}^{\frac{\alpha-1}{2}}(y)\|_{L_{U(\alpha/2-1/p)}^{p}} \end{split}$$

Put $a = \alpha/2 - 1/p$, $a + b = (\alpha - 1)/2$, then a + b > -1 and a > -2/p as $\alpha > -1$. From [4], (2.9) we get

$$\| \hat{H}_{2m}^{\alpha}(x) \|_{L_{H(\alpha)}^{p}} = \| \hat{L}_{m}^{\frac{\alpha-1}{2}}(y) \|_{L_{U(\alpha/2-1/p)}^{p}} \sim$$

$$\sim \begin{cases} m^{1/2p-1/4} & , 1 \leq p \leq 4 \\ m^{-(1/12-1/6p)} & , 4$$

(2.21) is proved from (2.20) and the fact that $n^{-(1/12+1/6p)} < n^{1/2p-1/4}$ for $n \in \mathbb{N}, \ 4 . q.e.d.$

Lemma 5.

(2.22) ess
$$\sup \Lambda_n(t; \alpha, \alpha - 1/2, 1) \le C$$
 , $\alpha > -1/2$

(2.23)
$$\Lambda_n(t; \alpha, \alpha - 1/2, 0) \le C$$
 , $\alpha \ge -1/2$

Here $\Lambda_n(t; \alpha, \gamma, \delta)$ is the Lebesgue function, defined by

$$(2.24) \qquad \Lambda_n(t;\alpha,\gamma,\delta) = (A_n^{\delta})^{-1} \int_0^\infty \Big| \sum_{k=0}^n A_{n-k}^{\delta} L_k^{\alpha}(x) L_k^{\alpha}(t) \Big| (t/x)^{\frac{\alpha-\gamma}{2}} dx$$

where

$$A_n^{\delta} = \binom{n+\delta}{n}$$

PROOF. (2.23) was proved in ([3] p. 30-31). Putting r=-1/4 into [8], Corollary of theorem 1, we obtain

$$\| (C,1)_n^{\alpha} \|_{[L^1_{U(\alpha-1/2)}]} \le C$$
.

However

$$\| (C,1)_n^{\alpha} \|_{[L^1_{U(\alpha-1/2)}]} = \operatorname{ess sup} \Lambda_n(t;\alpha,\alpha-1/2,1)$$

(c.f. [3], (4.19)) so we get (2.22). q.e.d.

III. The proof of the Theorem

Using the notation (2.2) we shall show the existence of a constant C such that

(3.1)
$$|| p_n(x) ||_{L^1_{H(\alpha)}} \le C n^{1/2} || p_n(x) ||_{L^\infty_{H(\alpha)}}$$

for every $p_n \in \mathcal{P}_n$, and this inequality is sharp. Let $p_n \in \mathcal{P}_n$ be arbitrary, then

$$\begin{split} \parallel p_{n}(x) \parallel_{L_{H(\alpha)}^{1}} &= \parallel V_{n,2n-1}^{H(\alpha)}(p_{n};x) \parallel_{L_{H(\alpha)}^{1}} \\ &= \parallel 2(C,1)_{2n-1}^{H(\alpha)}(p_{n};x) - (C,1)_{n-1}^{H(\alpha)}(p_{n};x) \parallel_{L_{H(\alpha)}^{1}} \\ &\leq 2 \parallel (C,1)_{2n-1}^{H(\alpha)}(p_{n};x) \parallel_{L_{H(\alpha)}^{1}} + \parallel (C,1)_{n-1}^{H(\alpha)}(p_{n};x) \parallel_{L_{H(\alpha)}^{1}} \\ &\leq \left\{ 2I(2n-1) + I(n-1) \right\} \parallel P_{n}(x) \parallel_{L_{H(\alpha)}^{\infty}} \end{split}$$

where

$$\begin{split} I(n) &= \int\limits_{-\infty}^{\infty} \left\| \sum_{k=0}^{n} \left(1 - \frac{k}{n+1} \right) \hat{H}_{k}^{\alpha}(t) \hat{H}_{k}^{\alpha}() \right\|_{L_{H(\alpha)}^{1}} e^{-t^{2}/2} |t|^{\alpha/2} dt \\ &= \int\limits_{-\infty}^{\sqrt{3\nu/2}} + \int\limits_{-\sqrt{3\nu/2}}^{\sqrt{3\nu/2}} + \int\limits_{\sqrt{3\nu/2}}^{\infty} =: I_{1}(n) + I_{2}(n) + I_{3}(n). \\ I_{3}(n) &\leq \sum_{k=0}^{n} \left(1 - \frac{k}{n+1} \right) \int\limits_{\sqrt{3\nu/2}}^{\infty} \| \hat{H}_{k}^{\alpha}(x) \|_{L_{H(\alpha)}^{1}} |\hat{H}_{k}^{\alpha}(t)| e^{-t^{2}/2} t^{\alpha/2} dt \\ &\leq \sum_{k=0}^{n} \| H_{k}^{\alpha}(x) \|_{L_{H(\alpha)}^{1}} \int\limits_{\sqrt{3\nu/2}}^{\infty} |\hat{H}_{k}^{\alpha}(t)| e^{-t^{2}/2} t^{\alpha/2} dt \end{split}$$

Hence, using lemma 3. and lemma 4. we obtain

(3.2)
$$I_{3}(n) \leq C \sum_{k=0}^{n} k^{1/4} \int_{\sqrt{3\nu/2}}^{\infty} x^{1/2} e^{-\gamma x^{2}} dx$$
$$\leq C n^{5/4} \int_{\sqrt{3\nu/2}}^{\infty} y^{2} e^{-\gamma \nu^{3/4} y} dy$$
$$\leq C n^{5/4} e^{-\gamma \nu} n^{-1/4} \leq C n e^{\gamma n} \leq C$$

Analogously, we can see that

$$(3.3) I_1(n) \le C$$

Now, let us prove that $I_2(n) \leq Cn^{1/2}$ Let n = 2m + 1 (the case n = 2m can be dealt with in a similar way with slight modification)

$$\begin{split} &\sum_{k=0}^{n} \left(1 - \frac{k}{n+1}\right) \hat{H}_{k}^{\alpha}(x) \hat{H}_{k}^{\alpha}(t) = \sum_{k=0}^{2m+1} \left(1 - \frac{k}{2m+2}\right) \hat{H}_{k}^{\alpha}(x) \hat{H}_{k}^{\alpha}(t) \\ = &\sum_{j=0}^{m} \left(1 - \frac{2j}{2m+2}\right) \hat{H}_{2j}^{\alpha}(x) \hat{H}_{2j}^{\alpha}(t) + \sum_{j=0}^{m} \left(1 - \frac{2j+1}{2m+2}\right) \hat{H}_{2j+1}^{\alpha}(x) \hat{H}_{2j+1}^{\alpha}(t) \\ = &\sum_{j=0}^{m} \left(1 - \frac{j}{m+1}\right) \hat{L}_{j}^{\frac{\alpha-1}{2}}(x^{2}) \hat{L}_{j}^{\frac{\alpha-1}{2}}(t^{2}) \\ &+ \sum_{j=0}^{m} \left(1 - \frac{j}{m+1}\right) \hat{L}_{j}^{\frac{\alpha+1}{2}}(x^{2}) \hat{L}_{j}^{\frac{\alpha+1}{2}}(t^{2}) x t \\ &- \frac{1}{(2m+2)} \sum_{j=0}^{m} \hat{L}_{j}^{\frac{\alpha+1}{2}}(x^{2}) \hat{L}_{j}^{\frac{\alpha+1}{2}}(t^{2}) x t =: A_{1} + A_{2} + A_{3} \end{split}$$

$$\begin{split} I_2(n) &= \int\limits_{-\sqrt{3\nu/2}}^{\sqrt{3\nu/2}} \int\limits_{-\infty}^{\infty} \left| \sum_{k=0}^{2m+1} \left(1 - \frac{k}{2m+2} \right) \hat{H}_k^{\alpha}(x) \hat{H}_k^{\alpha}(t) \right| e^{-\frac{x^2+t^2}{2}} |xt|^{\alpha/2} dx dt \\ &\leq 4 \sum_{j=1}^{3} \int\limits_{0}^{\sqrt{3\nu/2}} \int\limits_{0}^{\infty} |A_j| e^{-\frac{x^2+t^2}{2}} (xt)^{\alpha/2} dx dt \end{split}$$

Putting $x = \xi^2$, $t = \tau^2$, we get

$$\begin{split} I_2(n) &= C \int\limits_0^{3\nu/2} \int\limits_0^{\infty} \left| \sum_{j=0}^m \left(1 - \frac{j}{m+1} \right) \hat{L}_j^{\frac{\alpha-1}{2}}(\xi) \hat{L}_j^{\frac{\alpha-1}{2}}(\tau) \right| e^{-\frac{\xi+\tau}{2}} (\xi\tau)^{\alpha/4-1/2} d\xi d\tau \\ &+ C \int\limits_0^{3\nu/2} \int\limits_0^{\infty} \left| \sum_{j=0}^m \left(1 - \frac{j}{m+1} \right) \hat{L}_j^{\frac{\alpha+1}{2}}(\xi) \hat{L}_j^{\frac{\alpha+1}{2}}(\tau) \right| e^{-\frac{\xi+\tau}{2}} (\xi\tau)^{\alpha/4} d\xi d\tau \\ &+ C \int\limits_0^{3\nu/2} \int\limits_0^{\infty} \left| \frac{1}{(2m+2)} \sum_{j=0}^m \hat{L}_j^{\frac{\alpha+1}{2}}(\xi) \hat{L}_j^{\frac{\alpha+1}{2}}(\tau) \right| e^{-\frac{\xi+\tau}{2}} (\xi\tau)^{\alpha/4} d\xi d\tau \\ &= C \int\limits_0^{3\nu/2} \int\limits_0^{\infty} \left| \sum_{j=0}^m \left(1 - \frac{j}{m+1} \right) \mathcal{L}_j^{\frac{\alpha-1}{2}}(\xi) \mathcal{L}_j^{\frac{\alpha-1}{2}}(\tau) \right| (\xi\tau)^{-1/4} d\xi d\tau \\ &+ C \int\limits_0^{3\nu/2} \int\limits_0^{\infty} \left| \sum_{j=0}^m \left(1 - \frac{j}{m+1} \right) \mathcal{L}_j^{\frac{\alpha+1}{2}}(\xi) \mathcal{L}_j^{\frac{\alpha+1}{2}}(\tau) \right| (\xi\tau)^{-1/4} d\xi d\tau \\ &+ \frac{C}{(2m+2)} \int\limits_0^{3\nu/2} \int\limits_0^{\infty} \left| \sum_{j=0}^m \mathcal{L}_j^{\frac{\alpha+1}{2}}(\xi) \mathcal{L}_j^{\frac{\alpha+1}{2}}(\tau) \right| (\xi\tau)^{-1/4} d\xi d\tau \\ &= C \int\limits_0^{3\nu/2} \Lambda_m(\tau; \frac{\alpha-1}{2}, \frac{\alpha-2}{2}, 1) \tau^{-1/2} d\tau \\ &+ C \int\limits_0^{3\nu/2} \Lambda_m(\tau; \frac{\alpha+1}{2}, \frac{\alpha}{2}, 1) \tau^{-1/2} d\tau \\ &+ \frac{C}{(2m+2)} \int\limits_0^{3\nu/2} \Lambda_m(\tau; \frac{\alpha+1}{2}, \frac{\alpha}{2}, 0) \tau^{-1/2} d\tau \end{split}$$

Hence (2.22) and (2.23) of lemma 5. yield

(3.4)
$$I_2(n) \le C \int_0^{3\nu/2} \tau^{-1/2} d\tau + C \frac{m^{1/6}}{2m+2} \int_0^{3\nu/2} \underline{1} d\tau \le C\nu^{1/2} \le Cn^{1/2}$$

(3.2), (3.3) and (3.4) lead to (3.1).

Finally, we show that (3.1) is sharp. We can choose the test polynomials as follows:

(3.5)
$$\tilde{p}_n(x) := \left\{ \hat{H}_n^{\alpha}(x) - \hat{H}_{n-2}^{\alpha}(x) \right\} \quad (x \in \mathbb{R}, \ n \ge 2)$$

Then, for $1 \le p \le \infty$, by (2.21)

$$\parallel \tilde{p}_{n}(x) \parallel_{L_{H(\alpha)}^{p}} = \parallel \hat{H}_{n}^{\alpha}(x) - \hat{H}_{n-2}^{\alpha}(x) \parallel_{L_{H(\alpha)}^{p}} \sim n^{1/2p-1/4}$$

Consequently,

$$\frac{\|\tilde{p}_{n}(x)\|_{L_{H(\alpha)}^{1}}}{\|\tilde{p}_{n}(x)\|_{L_{H(\alpha)}^{\infty}}} \sim n^{1/2}$$

Thus there exists a constant C > 0, such that for each $n \in \mathbb{N}$

$$\parallel \tilde{P}_n(x) \parallel_{L^1_{H(\alpha)}} \geq C n^{1/2} \parallel \tilde{P}_n(x) \parallel_{L^{\infty}_{H(\alpha)}}$$

This completes the proof of the Theorem. q.e.d.

Acknowledgement. We would like to thank Dr. N. X. KY for calling our attention to problem and for many valuable comments.

References

- S. FRIDLI, Approximation by Vilenkin-Fourier sums, Acta Math. Hung. Vol. 47 num. 1-2 (1986), 33-44.
- [2] N. X. KY, On approximation of functions, Mathematical doctorate thesis, Budapest, 1985. (in Hungarian)
- [3] C. MACKETT, Mean Cesàro summability of Laguerre expansions and norm estimates with shifted parameter, Anal. Math. 8 (1982), 19-37.
- [4] C. Mackett, Nikolskii-type inequalities for Laguerre and Hermite expansion, Colloquia Mathematica Societatis János Bolyai 35 (1980), 811-834.
- [5] H.N. MHASKARAND E.B. SAFF, Extremal problems for polynomials with exponential weights, Trans. Amer. Math. Soc. 285 (1984), 203-234.
- [6] Chui, L.L. Schumaker, On Nikolskii-type inequalities for orthogonal expansions, in: Approximation theory II (ed. by G.G. Lorentz, C.K., Academic Press, New York, 1976, 479-484.
- [7] S.M. NIKOLSKII, Inequalities for entire functions of finite degree and their application to the theory of differentiable functions of several variables, Trudy Math. Inst. Steklov 38 (1951), 244-278; Amer. Math. Soc. Trans. Ser. 2 (1969), 1-38.
- [8] E.L. POIANI, Mean Cesàro summability of Laguerre and Hermit series, Trans. Amer. Math. Soc. 173 (1972), 1-31.
- [9] G. SZEGÖ, Orthogonal polynomials, 3rd ed. Amer. Math. Soc. Colloq. Pub. 23 (Providence, R.I, 1967).

[10] M.F. TIMAN, Orthonormal systems satisfying an inequality of S.M. Nikolskii, Analysis Math. 4 (1978), 75-82.

NGUYEN QUANG HOA
INSTITUTE OF COMPUTER SCIENCE AND CYBERNETICS
LIEU GIAI-BA DINH-HANOI
VIETNAM

(Received Januar 16, 1989)